
6

7

3490-002A

1982-019

2002-007

2001-065
M8x25 Hlf csavar

M8 Hl anya

1

14 9900-214

8400-170
2. Seite

134911-071
Product.: Lang

K1125 Meccora Novo
1. Seite

Belső használatra !
86152-980

2001-015

5135-085A

M5x6 Hernyócsavar

6536-001A

5131-001B

5131-001B

6536-002A

5135-085A

M5x6 Hernyócsavar

II.

I.

2001-015

5

4

3

5

4

2

I.

III.

5025-003A12

M5x6 Bkny hernyócsavar
2001-015

2001-017
M5x8 Sf csavar

2001-110
M6x16 Hf bkny csavar

IV.

2003-005
M6 Alátét

6536-01711

7925-679 102001-053
M6x35 Hlf csavar

IV.

6152-9799

II.

III.



Product.: Lang

2. Seite
Belső használatra !

21

20

1982-001

1982-011

18 5311-061B

201982-011

225540-130

236611-078
2002-003

2003-003
M5 Alátét

M5 Hl anya

2003-020

2001-042

M6 Íves rugós alátét

M6x16 Df csavar

2001-015
 M5x6 Bkny
hernyócsavar

16

2001-066

155611-033A
21 1982-001

M6 Alátét
2003-005

M6 Hl anya
2002-005

195833-012

19

5633-029B

M8x35 Hlf csavar

24

M6 Alátét
2003-005

M6 Hl anya
2002-005

5833-012

21 1982-001

21 1982-001

175311-062B

6611-045B

K1125 Meccora Novo



Product.: Lang

3. Seite
Belső használatra !

1. 12.
Reihenfolge:

Lage des Feuerablenkrahmen

33

32

29

27

29

6081-150

6081-150

306081-149A

6081-152

30

6081-261

6081-086A

31

26

4.

7.

3.

6081-152

6081-085A 25

28

28

5.

1.

10.

8.

9.

2.

11.

6.12.

5490-011D

4725-058A

Feuerraumauskleidung
(9900-378)

6081-085A         1 Stück
6081-086A         1 Stück
6081-149A         2 Stück
6081-150            2 Stück
6081-151            1 Stück
6081-152            2 Stück
6081-261            1 Stück

6081-151

6081-149A

K1125 Meccora Novo


